ﬂé Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 518+ 7= 2) 632+8=
1.
2.
3.
4.
3) 720+8= 4) 231+3=
5.
6.
7.
8.
5 156+ 4= 6) 564+ 6=
9.
10.
7) 588+ 7= 8 330+5=
9) 258+ 6= 10) 87+ 3=
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ﬂé Using the Distributive Property of Division

Name: Answer Key

Solve each problem using the distributive property of division.

632+ 8=
70 9
8 560 72
231+3=
70 7
3 210 21
o564 + 6 =
% 4
6 540 o4
330+5=
60 6
5 300 30
87+3=
20 9
3 60 27

Answers
1 74
2. 79
3 90
a. 7
5. 39
6. 94
7. 84
8. 66
9. 43
10, 29

1) 518+ 7= 2)
70 4
7 490 g
3) 720+ 8= 4)
80 10
8 640 80
5) 156+ 4= 6)
30 9
4 120 36
7) 588+ 7= 8)
80 4
7 560 2
9) 258+ 6= 10)
40 3
6 240 18
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ﬂé Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 335+5= 2) 2710+5=
1.
2.
3.
4.
3) 414+9= 4) 165+ 3=
5.
6.
7.
8.
5) 352 +-8= 6) 3905+5=
9.
10.
7) 207 +3= 8 330+6=
9) 132+3= 10) 387 +~9=
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Using the Distributive Property of Division

Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 335+5= 2) 2710+=5=
60 7 50 4 1 67
5 300 35 5 250 20 ) 54
3 46
a )
3) 414+9= 4) 165+ 3=
40 6 50 5 5 44
3 150 15
g ' 6. 79
9 360 | 54
’ 7 69
8 o)
5) 352+8= 6) 3905+5=
40 4 70 9 o 44
; 5 350 45
8 320 32 5 10. 43
7) 207 +3= 8 330+6=
60 9 50 5
3 180 27
: 6 300 ;30
9) 132+3= 10) 387 = 9=
40 4 40 3
3 120 12
9 360 X
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ﬂé Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 693 +9= 2) 190+5=
1.
2.
3.
4.
3) 268+ 4= 4) 102+ 3=
5.
6.
7.
8.
5) 344+ 4= 6) 504 - 8=
9.
10.
7) 340+5= 8) 414+ 6 =
9) 232+8= 10) 712+8=
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ﬂé Using the Distributive Property of Division Name:  Answer Key

Solve each problem using the distributive property of division.

2) 190+5=
30 8
5 150 40
4) 102+ 3=
30 4
3 9 12
6) 504 - 8=
60 3
8 480 izzl
8 414+ 6=
60 9
6 360 54
10) 712 +8=
80 9
8 640 72

Answers
1 77
2 38
3. 6/
4. 34
5. 86
6. 63
7 68
8. 69
0. 29
10 89

1) 693+9=
70 7
9 630 63
3) 268+ 4=
60 7
4 240 28
5) 344 +4=
80 6
4 320 21
7) 340+5=
60 8
5 300 40
9) 232+8=
20 9
8 160 72
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ﬂé Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 485+5= 2) 592+ 8=
1.
2.
3.
4,
3) 252+4= 4) 522+ 6=
5.
6.
7.
8.
5 84+3= 6) 288+ 6=
9.
10.
7) 2710+ 3= 8) 195+ 3=
9) 462+6= 10) 332+ 4 =
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ﬂé Using the Distributive Property of Division

Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 485+5= 2) 592+ 8=
90 7 70 4 1 97
5 450 35
| 8 560 31 2 4
' 2 63
a. 87
3) 252+ 4= 4) 522 +6=
60 3 80 7 5 28
4 240 1 6 480 542 6 48
7 90
8. 65
5 84+3= 6) 288 - 6=
20 8 40 8 o 77
3 60 24 g
6 240 | 48 10. 83
7) 2710+ 3= 8) 195+ 3=
80 10 60 5
3 240 30 3 180 19
9) 462+6= 10) 332+ 4 =
70 7 80 3
4 320 E12
6 420 42 i
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ﬂé Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 160+ 4= 2) 294+-6=
1.
2.
3.
4.
3) 396+ 4= 4) 522 +9=
5.
6.
7.
8.
5 792+8= 6) 280+ 4 =
9.
10.
7) 581+ 7= 8) 504+ 6=
9) 161+7= 10) 348+ 4 =
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ﬂé Using the Distributive Property of Division

Name: Answer Key

Solve each problem using the distributive property of division.

2) 294+6=
40 9
6 240 5
4) 522+ 9=
50 8
9 450 72
6) 280+ 4=
60 10
4 240 40
8) 504+ 6=
80 4
6 480 o4
10) 348+ 4=
80 7
4 320 23

Answers
1 40
2 49
3 99
4, 58
5. 9
6. 70
7. 83
8 84
0. 23
10, 87

1) 160+ 4=
30 10
4 120 40
3) 396 +4=
90 9
4 360 536
5 792+8=
90 9
8 720 72
7) 581+ 7=
80 3
7 560 21
9 161+7=
20 3
7 140 21
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ﬂé Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 296+ 8= 2) 592+ 8=
1.
2,
3.
4.
3) 810+9= 4) 462+ 7=
5.
6.
7.
8.
5 720+ 8= 6) 420+ 6=
9.
10.
7) Bl11+7= 8) 486+ 9=
9) 100+4= 10) 264 + 4 =
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ﬂé Using the Distributive Property of Division Name:  Answer Key

Solve each problem using the distributive property of division. Answers
1) 296+ 8= 2) 592 - 8=
30 7 70 4 1 37
8 240 56 8 560 3 2 4
' ' s 90
a 66
3) 810+9= 4) 462 7=
80 10 60 6 5 90
7 420 42 6. /0
9 720 190 |
| - 73
8 YA}
5 720+8= 6) 420+ 6=
80 10 60 10 o o5
8 640 80 6 360 60 10. 66
7) 511+7= 8) 486+ 9=
70 3 50 4
7 490 21
s 9 450 36
9) 100+4= 10) 264 + 4 =
20 5 60 6
4 80 20 4 240 24
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ﬂé Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 270+ 6= 2) 684+9=
1.
2.
3.
4.
3) 204+6= 4) 152+ 4=
5.
6.
7.
8.
5) 192+4= 6) 138 -+ 3=
9.
10.
7 372+4= 8 320+ 4=
9) 490+ 7= 10) 792 +8=
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Using the Distributive Property of Division

Name: Answer Key

Solve each problem using the distributive property of division.

Answers
1 45
2 76
3 34
4, 38
5, 48
6. 46
7 93
8. 80
9 70
10, 9

50[40]30]20]10] 0O |

1) 270+6= 2) 684+9=
40 5 70 6
6 240 530 g
s 9 630 54
3) 204+6= 4) 152+ 4=
30 4 30 8
4 120 32
6 180 24 :
5 192+4= 6) 138 -+ 3=
40 8 40 6
4 160 32 3 120 18
7) 372+4= 8 320+4=
90 3 70 10
4 360 17 4 280 40
9) 490+ 7= 10) 792+~ 8=
60 10 90 9
7 420 70 g 720 72
1-10 | 90| 80| 70| 60
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ﬂé Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 141+3= 2) 168+7=
1.
2.
3.
4.
3) 651+ 7= 4) 225+9=
5.
6.
7.
8.
5) 664+ 8= 6) 348 - 6=
9.
10.
7) 208 - 8= 8 180+ 5=
9) 345+5= 10) 498 + 6 =
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ﬂé Using the Distributive Property of Division

Name: Answer Key

Solve each problem using the distributive property of division.

2) 168+7 =
20 4
7 140 28
4) 225+ 9=
20 5
9 180 45
6) 348+ 6=
50 8
6 300 48
8 180+5=
30 6
5 150 30
10) 498 + 6 =
80 3
6 480 i

Answers
1 47
2 24
3 93
4, 25
5. 83
6. o8
7 26
8. 36
9. 69
10, 83

1) 141+3=
40 7
3 120 21
3 651+7=
90 3
7 630 21
5) 664+ 8=
80 3
8 640 2
7) 208+ 8=
20 6
8 160 48
9) 345+5=
60 9
5 300 45
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www.CommonCoreSheets.com 8

1-10 | 90| 80| 70| 60

50[40]30]20]10] 0O |




ﬂé Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 100+4= 2) 324+9=
1.
2,
3.
4.
3) 792+8= 4) 390+5=
5.
6.
7.
8.
5 192+ 8= 6) 300+4=
9.
10.
7) 280+5= 8) 270+9=
9) 180+5= 10) 177+ 3=
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Using the Distributive Property of Division

Name: Answer Key

Solve each problem using the distributive property of division.

324+9=
30 6
9 270 54
390+5=
70 8
5 350 40
300+ 4=
70 5
4 280 2
2/0+9=
20 10
9 180 9
177+ 3=
50 9
3 150 27

Answers
L 25
2 36
3 9
4. 78
5, 24
6. 75
7. o6
8. 30
0. 36
10. o9

1) 100+ 4= 2)
20 5
4 80 20
3) 792+8= 4)
9 9
8 720 7
5 192+8= 6)
20 4
8 160 K
7) 280+5= 8)
50 6
5 250 30
9) 180+5= 10)
30 6
5 150 30
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ﬂé Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 400+5= 2) 368+ 8=
1.
2.
3.
4.
3) 204+3= 4) 84+3=
5.
6.
7.
8.
5 297+ 3= 6) 474+ 6=
9.
10.
7) 402+6= 8 175+7=
9) 600+ 6= 10) 864 ~9 =
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ﬂé Using the Distributive Property of Division Name:  Answer Key

Solve each problem using the distributive property of division. Answers
1) 400+5= 2) 368+ 8=
70 10 40 6 n 80
5 350 50
| 8 320 48 2 46
' s 68
a. 28
3) 204+ 3= 4) 84+ 3=
60 8 20 _ 8 5 99
3 180 124 3 60 .24
' ' 6. 79
7. 67
8. 25
5 297+ 3= 6) 474 - 6=
90 9 70 9 o 100
3 270 27 ;
’ 6 420 54 10, 96
7) 402 6= 8 175+ 7=
60 7 20 5
6 360 542 7 140 35
9) 600+ 6= 10) 864 + 9=
90 10 90 6
6 540 560 g
s 9 810 54
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